OMRON

» FL-TCC1PS

TARAN) Y 2T LA BREAE H
HAZRAEREAD O3

iR EHEAE

DV, FRRBESBEOEFOAELEEELT, 2281
BUHFEITEVET,
CERAIICEEL TE. ROWBE ST {20,
- BROMHMEF T IEPIRP SRV &L,
- COBIRHAEE L BFEARICEY . FHCTEED S
Z« EUS CERC &L,
+ COMEHAEFEBVOTHBBTE S LS ICKENRE
LTL R,

q3

BB =17J

LIF OV =a7 W EZ SR,
CEGPES 2574 FH/FZ52)—2%
IFREEERE) 7 7L Y 27 =27 )L (Man.No. SDNB-713)

BERDHHELHE

No. | %&# EA

1 FEEAsERE T —J )V | LEDERPREIERLET

2 DATHERT—TIV | DASOIRIFTRERHLET

3 24VERANIEFE | DC2AVEREEMLET,
#3BLF5.08HC/02/180SNB (Weidmullertt &)
BT AO—FE B 7L —MEB A LIS
EETBERRXIEMF I BAHDRTY,

4 BEE AT ED

IERVAHOTRRATN R Dophim T e
ALOVTEH L 6 | RUNLED BREASN DR T T UL EICREICRITLET,
) BTN - EXITFREBIC A N
© OMRON Corporation 2017 All Rights Reserved. ’ ERROR LED REFRELLLELRBIRAILET
WERE/MERE
; BE Mzt | MFL-TCC1PS
= — iy
| T2 LEDTEE | BEEEE Y | WFHOU—X
@ TERTOEK S —
NEE A = A Q) —T B Q) —T
LRI ELETIUE, CORROLDIC. Bl - oty BES X PRS2
BEOGELE-Y, H—DBAICRBEPETICVE B R HFL-PSZ)—Z
BHTAIBYET, 1. PRICEALMNEEESS IR 18
BINDHVET, TREE (%) DC24V+10% (Vv TV DEED)
FELWERVEL G hIE. COBROEDIC. i8S - HESE #S8VK-G12024 (3 LA 44 DC24V 5A 120W)
A 5 R B N R e =02 HEET 3.0ALLIF
nrBYET Ban A3t EBREE SR
RS OE: WA BRI KR T T 255K
@ HEEDEK (BHg YA bO—FEHBTE)
® BE RUAZEK Bl I O—IHBRH AN EAIIIC
RIBRIEERLET AL TRt (Bt ¥ bO—5 £ BE)
LED R IRRE HASDY vy BRE—RICEHL AR E
& LED HIc& B EN LU BTRMERLET, RSAFRIHIE Ef§ IO S EOHE.
sREE E1dS B RE—REEH
& BEDNFEMEICHNT, BRICEHEEN RIS HENL S HTIAR | HATHERRT— T IV (KAEDSE-L) 400mm
RUET, RRBRiE#E 7 — 7 )b (A tE P BEHL) 400mm
@ TEET EEEEsH Ep{ERF:0~+40°C. R TFRF-15~+60C
AN e (2L K- HEBLENZE)
2 EHIRT 5B CEEIE L IRIEIIC A AT B i DN 7 )
R AN ST LA, ® BEEE IP20 (IEC60529)
AMREADIRERBEEL TARMEFERALEN TS, i R Eh 10~150Hz (K #&180.35mm) . X/Y/Z& /51809
N it @5 150m/s?, 675181, &30 (£ T -%45-Bifk)
. < SErECT < ° L BTV S—FILPVC,
LEDHEBRL AN TSN AT AL hPOM
" E #1200g
AN\ EE ) MR (AH) . 2AVERANHTA (F2).
B OB B SR OB BT AT T V=ML TIAT LRI~
—0&E BOKEOBOY o & Bt LU (M2t abxafE
SRERPBEE BRI, 4 — N BTSN, o
BRBAD R ch P BB ) oL, 7 — R ICA AL TEE ittt

| REFDESR |

PURIOR T IOBEHIE R AR S5 L TREAZETTOTBY -
LR,
@ BBERIEICOVT

GIRVE TV ZD BB I L2200 T2,

B IRFOLRRAEMEIR S 5720 TR0 B b 3 S5 2
EOFEE ST T LS,

ARBLED Y — 2 EEBAIFE DOV I AL TOE S, A XD A%
Ffi< 7280 r = AR R A B & 2T,

SEREOBRE, B AR § 27X THU 7L — bl L TL7EE0,
HATHUS T L — MR B B8 E A B ESh QOB BEDMLY
TR T TSN,

@ TR ACHRICOVT

SEA TR (FL-PSCIW)—X) Lifi &4 7147 (FH-S )= FZ-S3)—
Z) GEHAHH{§RE YV —F (FHI)—X) DAL TS0, #
Fi it DA 5 2 FE KOS, ARl IR O RN 20 £,

JRELZZBIEEE TR LTI,

SEIRHOMIEGHIL N TR,

SERSEIEA A S X AW A LA <7280,

TEIREE AT E LN IR (R AR M) &h T
LI A D EHAL TLEE0,

24V AT B NORSRIEL, S T BE AR R S LIRET
17T

i A OBRHRIFL, A $52-F (AWG14712) DB DOZHFHL ik
HOREINTELAF RS EI (RA30mE T) Bl TAEEN,
727U, FL-PS260W % I ##15mLL_E il 23543, BIREITE %
24-26.4VE5 B INTHBIL TLEXN,

ARG =TI EE S 2541203 BT EFAY > TrofEEL T
7230,

=7 Ok N 20mm L EAEERL T, TR T2
B =T AT KL A0 E T,

=7 ART A TBEIZ AN 2 B Z N TR =TI a4
AT EiE R Y T OE 3

OB LA A1 A BRI IO IR, BT A E DA PO

A, BRI T S DU THERRAAT 5 TLAZE W AL & Tl
FTERINBDET
@ TOfts

BRI A ) o7 RS AR KL EL BB BDET DT,
ARIRKITE R AN TN,

CFET S ARRHIEFIZEL 5D WA B EDRE P 573545
FAH AP IEL, BIFE Y S RRETU S - AT E TS
72&0,

AR A S RSP, SOE EZTE  BEHIL 2D LTz,

YA TR IRE) A 52 720 TR BHHD F K 50 9,

BRI R OG22 & T SIS L T2,

JRET DL R LU TP Tz,

@ JISERE

AHABIZENSU (EN61326-1) IS AL TOET,

(Electromagnetic environment : Industrial electromagnetic
environment (EN/IEC 61326-1 Table 2))

AR A =T ARERIZ BN DL NS EEHL O,

HAIHOM 2 E0310% AN TE ) § 2 W BEMED B DE T,

FALDES

B EE AR, GRENE, E723MERE BN OB EA Y 72, LU F D
ZERSFHTLIERN,
@ REHZICOVT
WO IR, PRFLTZEN,
JAPHELE 230°C~+407C (IRAF IKE-15~+60°C) DT
RE DSBS (RS L2 BT
R 335~ 85%RHD 5 it
S A, TR 2D 280 BT
FEIR EOY SO
ARBICH RO BT
LTSS 7= B2 i
KL AL S DO TR R i
BRI L R RO A2 e
AR B W A R S -
@ TR ECHRICOVT
WA 2 b= L OB ANE R, F23AR B AT A5 &
HNIL TR,
=T NDUERIIA T Y a SOERERr—7 )L (FL-XCLIPS) #Z
FEFIL7ZZRN,
@ AT FLAITDNT
BTANET LT, WHAV>CREEMERL TP > TSN,
KB OBHIUEIFEL P TIER T2 &0,
P R TR AT LR TR,
@ VA—LTYTITDOWT
WAL, 302 DL EFSBL TAST IS TS A I #13m]
B REL COFRAD T HBENHRAITEN T EIELHNET

MFL-PS260WAEIRAR156mLl L TERT 3154613 BRELE
24-26.4VELBDEITFREIL TZE LY,

WHAZNOERFTT

ATy TVHAZENATRMA BT - EBRFITE>
HAEA 3 b= DA AT NOHUHHIHED A7 A FHUS 7V —1
EALTTOET BUT A i, Ok ifi/ F i @45 i
i @M EF O SFRAAAS CEF 4 HUHF B A AT &> THL
L=t KO R E A0 E T DT LU FORES
HAZHUS 24T > T HUSHAACHESEL 21 MAF D78
1.2N'm.M2%%%0.15N-m T, )

O L1/ T IHE

O MmERA

OFMmE

-FH-SM/SC/SM02/SC02/SM04/SC04/SMX05
/SCX05/SMX12/SCX12/SM21R/SC21R.
FZ-S5M3/SC5M3IZHUHT B8

22.7+01 63.9

16.8+0.1, 30.2+0.1

22.7+01 94

872 Q

2501
16.8 +0.
|

22.7+01

[}
R
D
(BFR) 25401 355
12- P45 &iE

12- 99474 ") 90deg.

M4 U X 418 % £
R« bE/ TEBMECER L2 ARERAECER | ZEER A

‘FH-SMX/SCX/SM05R/SCO5R.
FZ-S/SCIZHUHT 2554

22401 25401 22401

22401

A£01

(BUFR)
9-¢25 8@
9-®49474% " 90deg

M2l U x 318 % £
R« bE/ TEBMECER L2 ARERAECER | ZEUEER A {5

‘FZ-S2M,/SC2MIZHUH T 5354

29401

+0.1

1
Q@
©
@

M2 # U x 3{8 % fEH
B2 - b/ TERMICER 22 AREBRTEICER : ZEIEER BB

‘FZ-SH,/SHCIZHU 2356

30.2+01 56.4
‘\6‘8i0.L‘ 30.2£01 9.4
%% é?%\u@%
g9 |z \%%“Jé\§o> %§° =
94 e | ) 3
WZas9)]
(H;H;\) ‘ 2501 ‘ 355
12- 045 Bili

12- $9.9 4549

M4 13 U 418 %fE A
By -k / TEBRMARICER 777 ARERARCER N &R cER

<27y T2:RBBAONO—FENATETR T L —MEE
FirEd>

M2t haUXAMETEELE T

4-M2x0.4 (Bff % F7X)

(@) D=0 O
@detcy @
© @g ©
QIO OJO
&7 Op goO7

<27y T 3HRBBOCNO—ZENXTES—TIVERILET>

@ fF(}
HAFE T — T MR AT T D30 £ PFEBO MY ER 53 %
BbY I FoEENTIETELAATYILET,

AT ED W2

OmsL
WA =T MANDAX 2% RIS OF ENANEA A5
FoF QTG [EREET .

WAL AT maLE

[;x&]

BRI - =T i TR 1 T5 [ SIE6 0T EN,
(R IRV I E S o8

[EE]

“IXT ANOY T fRN TSN, RO K250 £,

=T NRAXT A ARB RIS D SN EHIZLTLZEN,

=T IR SRR E B T 25 faf E
DO BRREIEL RN TLZEN,

<7y 74RO MO—FCRRBREERLET>

@ fFY

(MR b — S QWA — 7 a3 2] & [l = 3
22 DY % AbE, S RITA 5% TT I8 A nlfin
HTR&E0,

BT W&

@I L
[Hm b —Z DI — 7 A2 2] D755 8% 0]
frX T [HBlOaxs 2] »ERS LT R &N,

Mot

BWALAD

@ —JILDIiEE

TRIE R 2 b —F OIER AL 72 A3, BISEDDIE R r—
7L (JBFL-XCLPS) & F i L T2E0,

[EE]

=T NS A ARERHEEE DN SN KL TLEEN,
=T IR 7RG e E B HE s 28R T
DO BRREIEL N TLZEN,

W24VHER A himF & E D

oo WrES | 558 AR

% 0-“ 1 DC24V(+)|24VEEA S
Al E 2 DC24V(—)|OVEEAS
1) @

[EE]

SR B ORI EAT 5T (AWG14712) DEDOEMHHIL,
EIFIRO BN TES7ZF LB X2 (I K30mE T) FLHrL T
7N,

772U FL-PS260 W4 7 5t 1 5m Pl LTl 423541, i
T A24—26.4VELDINZHMIL TSN,

ST R AR Y TR RA DN QAT VR (1) LI R
FRL720 [l — & 7 MNZEURL T4 2L BIGAED B A2,
MEERLBHRO R K 50T,

SE AR T B IRE R E D NIH SN KU TN
BRI 7R & N2 1 B iR AT AN
DT BB LN TLEE N,

WEROHRAIRFICOWT

AW a—F (FL-TCC1PS) ~OEH% AIZBEL T, i
Brryavia—3 (FH) L OB % ANEE R E721 3 AR 52
SEITABESIL TN,

W57 RO AJTE A RS T e =91
ERROR LEDZ S ATU CHRBIZTE L E 1 A, it b
=7 DR IAE FFHEALTZE0,

FLTCCIPSADBEANSEDHE
~BRANEBHLET

FL-TCC1PS ON
BIRAT OFF

Bt 4aha-7 ON
BEAN OFF

|

‘FL-TCC1PSADERANEE G A O—FAD
BRANPRBEDISE
—~IERICEEL TRIArEXLEY,

FL-TCC1PS ON
®HEAN  OFF

Bt #3-7 ON
BEAL OFF

E& YO NA-FADEREANNEDSE
—FL-TCC1PSADER AN EBBINA N8I
ERROR LEDA ATU CRREAD BALEE Ao

Efgt Y A-FOEREFHAL TS,

FL-TCC1PS ON —_,—
ERAS OFF

Bt #3M-7 ON
BEAL OFF

WSTER
(8 fiz:mm)

96
89.6

1
i
u

il
]
1} _ m:i
Q | =i
(o]
)
)
o — v
o o
D S
o HREREROR T2 o
o) g
DATEFARTE
210.6
82
64.4
40 5
26,
BEANBTE o
©
e I
M o | ~ Q9
S 9 o °
dl
LED{ZE/RAT

fEf e MLy (M24L) 015N -m

HASEFATL—N (B &)

o T |

96
89.64+0.1

(O3 Q) |
BRI (OONOE©
g§§ © © © © avesmEm
QN o
GmSCCome
4-M2(Ei

CHEHEER

USRS, — T ENRETORAAREL TREHEESN TOET HVELTORIC

B BAETOEMEBML TH5T, SEMY UHMREINSORERICERINBE

(213, M BRI T YHRREE W L E Y AL 722U RIS 2 S TH- T

HLUMOBHEL AR EERAROBECHINOEBY HBHESREET,

(a) VRN BEESND AR (IFFHHVERE, WBER . A2 FERM. 8%
iééaﬁfé )ﬁﬂé;ﬁfﬁ IRk, ERMR. R RE. ZOMES SHICBRY RS
pL)iied

(b) BVMERMED LELAR (AR KB BREDHIGS X T L, 2405 RERHE SR
SRT L GRIEY AT LIEHEF- B EE IR R HE)

(0) LV R EAFIBETORR (F1BSNCERE T 5340k, (L2H B R E W B 10H.
BRI EEW SR, R THRERIDRMEE)

(d) PEOTEICEHROLVEEPRETOME

“@PSAIRBEN TS, AP0 ERHOBES I EBE (“HESE, TR
U BTSN E A BBEICEHT SERICEFALAV TRV, BREEH
BRGSOV T IRt B M (S AR

LRSEE BROEED— BT, YDA BEHEOY, F— s —NERIH
DHEAY, T2 T MRHORIE - % EEBEONEE SHA TTEAL,
ALOVKKERE 42070 d b=y y3aniz-

ORMAIEETIHHVEDEE

BEHRMERE 2197 s

7Y=-

I#::0120-919-066

HHBTE-PHS IPBELETRIFIRV LT ERADT, FTROBEESASPULLE,

&5 055-982-501 5 cassinnnuzs)

W SR : 8:00~21:00 WEHH : 365H
OFAXPWebN— T THBIVEbEVEETET,

FAX 055-982-5051 / www.fa.omron.co.jp
@ ZDDBMVEHE

WER - A - T - EAREE RO BIMEI%. 3R
BYF LAOCRRFTRICCHRERC LS,

A4 L O FIEHESIREE 4 LD SRS HAIE. WebX—U T
CERLTVET.
AW 2014%7R




OMRON

woes FL-TCC1PS

Camera Mount Lighting Controller
for Photometric Stereo Lighting

INSTRUCTION SHEET

Thank you for selecting OMRON product. This sheet pri-
marily describes precautions required in installing and
operating the product.
Before operating the product, read the sheet thoroughly to
acquire sufficient knowledge of the product. For your con-
venience, keep the sheet at your disposal.
TRACEABILITY INFORMATION:
Importer in EU Manufacturer

Omron Europe B.V. Omron Corporation,

Wegalaan 67-69 Shiokoji Horikawa, Shimogyo-ku,

2132 JD Hoofddorp, Kyoto, 600-8530 JAPAN
The Netherlands

The following notice applies only to products that carry the CE mark:
otice:

This is a class A product. In residential areas it may cause

radio interference, in which case the user may be required to

take adequate measures to reduce interference.

Cce

© OMRON Corporation 2017 All Rights Reserved.

| PRECAUTIONS ON SAFETY |

® Meanings of Signal Words

Indicates a potentially hazardous situation which, if
&WARNlNG not avoided, will result in minor or moderate injury,

or may result in serious injury or death. Additionally,
there may be significant property damage.

Indicates a potentially hazardous situation which, if
/\CAUTION [EiSeme i may result in minor or moderate injury
or in property damage.

® Meanings of Alert Symbols

® Prohibition
Indicates general prohibitions.

& LED Light Hazard
Indicates the possible danger of LED light.

High Temperature Caution
& Indicates the possible danger of injury by high
temperature under specific conditions.

@ Alert Statements in This Sheet
/A\ WARNING

This product is not designed or rated for ensuring safety
of persons either directly or indirectly. Do not use it for
such purposes.

Looking into the LED light continuously may cause visual
impairment. Do not look the LED light directly.

/A CAUTION

Minor burns may occasionally occur. @

Do not touch the case while the LED is ON or immediately
after the power is turned OFF.

|  PRECAUTIONS FOR SAFE USE |

Please observe the following precautions for safe use of the products.

@ Installation Environment

- Do not use the product in areas where flammable or explosive
gases are pl’eseﬂt.

- To secure the safety of operation and maintenance, keep an enough
distance from high-voltage devices and power devices.

- The case of this product is connected to the 0 V line of the internal
circuit. Do not ground the case main body to prevent from invasion
of noise.

- Be sure to use the camera mounting plate provided with the main
unit when installing the product.Make sure to tighten with the
specified torque described in this Sheet when mounting the Camera
mount plate.

@ Power Supply and Wiring

- Connect only to the applicable image sensor controller (FH series),
camera (FH-S series, FZ-S series), and light (FL-PSOOW series).
Use of other devices may result in fire, explosion, malfunction or
failure.

- Make sure to use the product with the power supply voltage specified.

- Do not reverse the polarity of the power connection.

- Do not apply voltages or AC power supplies that exceed the rated
voltage.

- Supply power from a DC power supply for which measures have
been applied to prevent high voltages (e.g., a safety extra low
voltage circuit).

- Be sure to remove the terminal block from of the main unit when
wiring the product to the 24 V external input terminal block.

- To wire the terminal block, connect a applicable cord (AWG14-12)
and the length of the power supply cable should be as short as
possible (30 m max). However, when FL-PS260W is used in the
length of the power supply line at least 15m, adjust the power
voltage to become 24-26.4 V.

- Always turn OFF the power of the product before connecting or
disconnecting a cable.

- Secure the minimum bending radius of the cable for at least 20 mm.
Otherwise the cable may be damaged.

- Do not apply exessive stress to the cables and connectors. It may
damage the cables and connectors.

- Before turning on the power after the wiring is completed, verify
that the power is correct, that there are no incorrect connections
such as a shorted load circuit, and that the load current is suitable.
Incorrect wiring may cause damage and failures.

@ Others

- The main body may become extremely hot while the power is
supplied or immediately after the power is turned OFF. Do not
directly touch the main body.

- If you notice an abnormal condition such as a strange odor, extreme
heating of the unit, or smoke, immediately stop using the product,
turn off the power, and consult your dealer.

- Do not attempt to disassemble, deform by pressure, incinerate,
repair, or modify this product.

- Do not drop or impose excessive vibration or shock on the product.
It may cause breakdown of the product.

- When disposing of the product, treat it as an industrial waste.

@ Applicable standards

This lighting complied with the EN standard (EN61326-1)
(Electromagnetic environment : Industrial electromagnetic
environment (EN/IEC 61326-1 Table 2))

- Also, the following condition is applied to the immunity test of this
product.

There are case that Lighting brightness fluctuate Max 10%.

@ Power Supply and Wiring

- Turn ON the power of this product and Image Sensor Controller at
the same time or this product first.

- For cable extension, use an optional extension cable (FL-XCOPS).

@ Maintenance

- Turn OFF the power and ensure the safety before maintenance.

- Lightly wipe off dirt with a soft cloth.

- Never use paint thinner, benzene, acetone, or kerosene to clean the
product.

@® Warming Up

- After turning on the power supply, allow the controller to stand for
at least 30 minutes before use. As the circuits are unstable
immediately after power ON, brightness may gradually change.

M Relevant Manuals

Refer to other related manuals.
- Vision System FH/FZ5 Series Processing Item Function Reference
Manual (Man.No. Z341)

M Parts Names and Functions
®

No.|Name Description

1 |Lighting connection cable |Connects the LED lighting.

2 |Camera connecting cable | Connects to the extension connector
of the camera.

3 |24V external power Connects the 24 VDC power supply.
supply input terminal block | Model: BLF5.08HC/02/180SNB
(Manufactured by Weidmuller)

4 [Mounting hole for Holes to mount screws to secure

fixing screw the Lighting Controller to a mounting
plate or device.
5 |POWER LED Lights up green when the
24 V power is supplied.
6 |RUNLED Lights up green when preparation of
lighting is complete.
7 |ERROR LED Lights up red when an error occurs.

M Specifications

Model FL-TCC1PS

Applicable Image FH series
Sensor Controller

Applicable Cameras | FH-S series, FZ-S series

Applicable lighting FL-PS series

Number of 1
connected lightings

Power supply voltage (*)| 24 VDC+10% (including ripple)

Recommended S8VK-G12024
power supply (manufactured by OMRON, 24 VDC, 5 A 120 W)

Current consumption | 3.0 A max.

Drive method Constant voltage method

Luminance Control Duty light adjustment: light adjustment of
Method 255 levels
(configured with image sensor controller)

Trigger lighting Lighting in synchronization with trigger input
timing from the controller

(configured with image sensor controller).

Lighting duration Auto setting in accordance with

setting shutter speed.
Lighting time Set with image sensor controller or set
control in accordance with shutter speed.

External interface Camera connection cable (directly
connected with the main unit) 400 mm
Lighting connection cable (directly

connected with the main unit) 400 mm

Ambient Temperature | Operating: 0 to 40°C Storage: —15 to +60°C
(with no icing nor no condensation)

Ambient Humidity Operating and storage: 35% to 85%

(with no condensation)

Degree of Protection | IP20 (IEC60529)

Vibration Resistance | 10 to 150 Hz, (0.35mm double amplitude)
80 min. each in X, Y, and Z directions

150 m/s? 3 times each in 6 directions
(up/down, left/right, forward/backward)

Shock Resistance

Material Case: Alminum, Cable: PVC,
Camera Mount Plate: POM
Weight Approx. 200 g
Accessories Instruction Sheet (this Sheet), 24 V power

supply terminal block (male),

Compliance Sheet, mounting screws

(M2 set screw x 4, M2 flat head screw x 4,
M4 flat head screw x 4)

* When FL-PS260W is used in the length of the power supply line at
least 15m, adjust the power voltage to become 24-26.4 V.

B Mounting the Controller to the Camera

< Step 1: Mount the Camera and the Camera mount plate >
The Lighting Controller can be mounted to the Camera using the
provided Camera Mount plate. Mounting directions are: (1)
Top/Bottom mount, (2) Right side mount, (3) Left side mount. As the
location of the screw hole of the mounting plate used differs depending
on the camera to be mounted, refer to the figure below for proper
mounting. (The recommended mounting screw torque: M4 screw: 1.2
Nm, M2 screw: 0.15 Nm)

(1) Top/bottom mount

(2) Right side mount (3) Left side mount

- Mounting to FH-SM/SC/SM02/SC02/SM04/SC04/
SMX05/SCX05/SMX12/SCX12/SM21R/SC21R
FZ-S5M3/SC5M3

22701 63.9

1680 30201

22701 | 94

&

0 ggdty @
i1 ol TSN el | s
S 9 o ol
o @ «
%%
= | -
(MOUNTING HOLE) 2501 35.5

12-4.5 dia. through-hole
12-9.9 dia. flat-head 90 deg.

| PRECAUTIONS FOR CORRECT USE |

Observe the following to prevent failure, malfunctioning, and adverse
effects on performance and the device.

@ Installation Sites

Install and store the product in a location that meets the following

conditions:

- Place where the surrounding temperature is below or above 0 to
40°C (-15 to 60°C in storage).

- Place where no rapid changes in temperature (place where dew
condensation not form).

- Place where the relative humidity is below or above 35 to 85%.

- No presence of corrosive or flammable gases.

- Place free of dust, salts and iron particles.

- Place free of vibration and shock.

- Place out of direct sunlight.

- Place where it will not come into contact with water,
oils or chemicals.

- Place not affected by strong electro-magnetic waves.

- Place not near to high-voltage, or high-power equipment.

Use four M4 flat-head screws.
BEZR: Use for top/bottom mount 2221 Use for R side mount : Use for L side mount

- Mounting to FH-SMX/SCX/SM05R/SCOSR, FZ-S/SC
22401 25+01 22+01 13.5

22401

= \

H
«|
(MOUNTING HOLE)

9-2.5 dia. through-hole
9-4.9 dia. flat-head 90 deg.

Use three M2 flat-head screws.
BEZR: Use for top/bottom mount KZZZ1: Use for R side mount : Use for L side mount

- Mounting to FZ-SZ%/ SC2M

+01

10 @92
122

(MOUNTING HOLE)
9-2.5 dia. through-hole
9-4.9 dia. flat-head 90 deg.

Use three M2 flat-head screws.
XX Use for top/bottom mount ZZZ: Use for R side mount R : Use for L side mount

- Mounting to FZ-S2M_/SHC

30201 56.4
16.8£0. 30.240.1 94
R L R
VSR R0
=T o r% %\ 3) %§
o ° SN o| 4
14 -9 o 2
N e o o E
WZas9)
& ©>
39 =
(MOUNTING HOLE) 25401 35.5

12-4.5 dia. through-hole
12-9.9 dia. flat-head 90 deg.

Use four M4 flat-head screws.
B Use for top/bottom mount 1222 : Use for R side mount NXJ: Use for L side mount

< Step 2: Mount the Lighting Controller and the Camera mount plate >

Fix with four M2 set screws.
4-M2x0.4 (mounting screw hole)

5 o) 5
@l
@ © pg ©
Qo (@)
Op &0y

< Step 3: Cable the Lighting Controller with the Camera >

@ Mounting

Align the inner grooves of the connectors on the camera connection
cable side and camera side with each other, and insert the cable until it
clicks to lock it.

Before mounting After mounting

@® Removal
Hold the connector on the camera connection cable side in the arrowed
direction, and pull it out straight.

Before removal After removal

[NOTE]
Do not grab the cable and pull it out with a unreasonable force to
remove it. Doing so might cause breakage.

[IMPORTANT]
- Do not touch the internal terminals of the connector. Doing so might
cause a failure.

- Avoid the cable and connector from being vibrated or shocked.
- Do not install the devices loading the connector constantly, for
example, the cable is being tensed.

< Step 4: Connect the lighting controller and the lighting >

@ Mounting

Align the grooves of [Lighting connection cable side connector of
lighting controller] and [Lighting side connector] and rotate the plug
part until it clicks.

Before mounting

After mounting

@ Removal
Rotate the plug part of [Lighting connection cable side connector of
lighting controller] to remove it from [Lighting side connector].

Before removal After removal

@ Cable extension

To extend the distance of the Lighting and the Lighting Controller, be
sure to use the separately sold extension cable (FL-XCOPS).

[IMPORTANT]

- Avoid the cable and connector from being vibrated or shocked.

- Do not install the devices loading the connector constantly, for
example, the cable is being tensed.

H Connection with the 24V external
input terminal block

1) (@
Terminal No. | Signal name | Description
1 24 VDC(+) | 24 V power supply input
2 24 VDC(—) | 0V power supply input

[IMPORTANT]

- To wire the terminal block, connect a applicable cord (AWG14-12)
and the length of the power supply cable should be as short as
possible (30 m max). However, when FL-PS260W is used in the
length of the power supply line at least 15m, adjust the power voltage
to become 24-26.4 V.

- Be sure to wire the power supply separately from other devices.
Wiring the power supply together with other devices or wiring it to
the same duct may result in erroneous operation or damage of the
product due to interference by electromagnetic induction.

- Avoid the wire and terminal block from being vibrated or shocked.
Do not install the devices loading the terminal block constantly, for
example, the wire being tensed.

H Sequence to turn ON power

When supplying the power to the Lighting Controller (FL-TCC 1 PS),
make sure to turn ON the power supply to the product first or at the
same time with the Image Sensor Controller (FH). If you reverse this
order, the input power to the product is not recognized so that ERROR
LED will light up and lighting will not light. Turn ON the power of the
Image Sensor Controller again.

@ If the power input is provided first to FL-TCC1PS
= Recognizes the power supply input.

FL-TCC1PS ON
Power input OFF

Image Sensor Controller ON
power input OFF

|

@ If the power input to FL-TCC1PS and the power input to
the Image Sensor Controller are provided at the same
time

=> Normally turns ON and the lighting turns ON.

FL-TCC1PS ON
Power input OFF

Image Sensor Controller ON
power input OFF

L L

@ Power supply input to Image Sensor Controller first

=> ERROR LED turns ON and therefore the lighting does not turn ON
as the power input to FL-TCCIPS is not recognized. Turn ON the
power of the Image Sensor Controller again.

FL-TCC1PS ON
Power input OFF __,—

Image Sensor Controller ON
power input OFF

l Dimensions

Unit: mm
% ( )

89.6

[
]
!

£

400

400
—

Lighting connector

(35)
(43)

Camera connection
connector

210.6

POWER SUPPLY =
INPUT TERMINAL 26

BLOCK
& _ﬁ

6.2

30

N
Z e

LED indicator lamp
Tightening torque (M2 screw): 0.15 N*m

@ Camera mount plate (provided)

of |
9%
89.6:+0.1
AN G) NG ) L
IS cofcom S
(=1 & P 4-M2.6
e © © © ©  (hroughnole)
A <
EmESECOMG

4-M2
(through hole)

Suitability for Use

Omron Companies shall not be responsible for conformity with any standards,
codes or regulations which apply to the combination of the Product in the
Buyer’s application or use of the Product. At Buyer’s request, Omron will
provide applicable third party certification documents identifying ratings and
limitations of use which apply to the Product. This information by itself is not
sufficient for a complete determination of the suitability of the Product in
combination with the end product, machine, system, or other application or
use. Buyer shall be solely responsible for determining appropriateness of the
particular Product with respect to Buyer’s application, product or system.
Buyer shall take application responsibility in all cases.

NEVER USE THE PRODUCT FOR AN APPLICATION INVOLVING
SERIOUS RISK TO LIFE OR PROPERTY WITHOUT ENSURING THAT THE
SYSTEM AS A WHOLE HAS BEEN DESIGNED TO ADDRESS THE RISKS,
AND THAT THE OMRON PRODUCT(S) IS PROPERLY RATED AND
INSTALLED FOR THE INTENDED USE WITHIN THE OVERALL
EQUIPMENT OR SYSTEM.

See also Product catalog for Warranty and Limitation of Liability.

OMRON Corporation  Industrial Automation Company
Tokyo, JAPAN Contact: www.ia.omron.com

Regional Headquarters

B OMRON EUROPE B.V.
Sensor Business Unit
Carl-Benz-Str. 4, D-71154 Nufringen, Germany
Tel: (49) 7032-811-0/Fax: (49) 7032-811-199

B OMRON ELECTRONICS LLC
2895 Greenspoint Parkway, Suite 200
Hoffman Estates, IL 60169 U.S.A.
Tel: (1) 847-843-7900/Fax: (1) 847-843-7787

| | OMRON ASIA PACIFIC PTE. LTD.
No. 438A Alexandra Road # 05-05/08 (Lobby 2),
Alexandra Technopark,
Singapore 119967
Tel: (65) 6835-3011/Fax: (65) 6835-2711

Il OMRON (CHINA) CO., LTD.
Room 2211, Bank of China Tower,
200 Yin Cheng Zhong Road,
PuDong New Area, Shanghai, 200120, China
Tel: (86) 21-5037-2222/Fax: (86) 21-5037-2200

D(® Oct, 2014




